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I ymwn: excluded classes from n7nn

Types: bird offerings and grain offerings (per nnna-v. 1)

Groups: My or partner-na1p cannot be used to generate, per \n1nn (v. 1)

Classes: n»an p11°V71p cannot generate N7NN

v”7. source for these exclusions — 2”yn was singled out as an exemplar of 77 nn (v. 5), to be a model:
i Justas:a"nis a T 1219p, and nam j29p

ii ~ So too: "N only applies to T’ 129p (not even co-owned, per 2”yn) and narm 127p (not nan pTa)
iii ~ an»7x infers exclusion of n»an p7a from "27p” (v. 2, the preface to nmmnin v. 1)
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Challenge: "27p” implies n»an p1a as well, per xn>»12 which allows for possibility of n»an p1a being included in
PIN0INY MR (vv. 3-4), only excluded due to n”& nna (v. 3)

Answer: that xn»92 follows v, who, in our nwn, excludes n>an p7a via 2”yn; 327 would agree that n’an praisn’t
called j127p

(a) Challenge: v. 4 refers to n»an p71 VTP as "127p”

(b) Answer: they are called ”n 127p”, but not ”n’ 127p”

iv  an»axjustifying v. 5 (repetition of nmn 171) — v. 1 would have allowed for any 1277 to be able to generate nnn
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Therefore: v. 5 attaches to 2”yn to teach (per v"1’s explanation);
(a) Justas:a"ynisa T 129p, N2 117p, an obligation (not naT1) and not able to brought by partners
(b) So too: only map which fit those four criteria can generate nmnn
(¢) Analysis: n2M2w 727 cannot exclude nam noy
(d) ~a7 once he accepts the obligation to bring, it becomes like N2 -> generates nmnn
(i) Exception: is N2 which comes from surplus funds
(if) However: if we hold that those funds go to Max nam Mm%y, already excluded (as Max)
(iii) Therefore: ™ must hold that surplus j27p-funds go to T’ N5y (yet unable to generate nnn)
1. Challenge: X" is the author of the opinion that namn go to n> nY
2. And: he holds that they can generate nnn
3. Answer: v agrees with him that mmn->7mn n%y, but disagrees — cannot generate NN
a.  Challenge: paR "V's complex theoretical (above) about designating nwx, making nmnn from it
and losing original and bringing third, then finding index animal — whether it could make an-
other nmnn (only asked according to w™ [according to janv '7’s position]) — no question
b. Answer: he was asking — if there were a Xin who agreed with w” that y7nm pann pr and who
held like 8" that 770 WY MAIMNRA N RN T D271 N9 — could it be reused
i.  In other words: 2 mw1Tp in same body (then, 2 bodies with same nv1Tp) - 1p'n

v 227's take on v5 (contra w™): (21 rejects need for 2”yn as model to exclude Pamw ,Max etc.
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Reason: infers Tm-only from "m”, he holds that "j29p” doesn’t include n’an 71 and holds mamn go to Max nam)
27y singled out to teach difference between "nw nnn” (e. g. he erred and called #9 “ten” etc.) and Yau nnn
(a) mww 1w is offered on nam, can be redeemed and applies only to "&1 727 (D'nnN)
(b) 192 o7 isn’t offered on namn (:131), cannot be redeemed and applies even to n”ya
Challenge (to »27): it was “expanded” — why would it then constrict (to prevent 2”yn n9nn from na1pn)?
Answer: whatever was expanded (0w nmnn) was expanded (that 191 nmnn applies at all) — but only that
(a) Source (»777 7173 81177 79): 2"pn was in the general rubric of NM117p, singled out to teach something new
(i) Rule: Yoy1n 89X 12 79 PR — we can only expand to include its Wy1'n — no more (only 1w n1nn is offered)
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